


④ det G) = ( 31141 - (SH- 21=22

Since the determinant
is not 0

,
the

matrix ( 34 ) is invertible .
-

④ det ( Y f) = ( 4161-4181=0

Since the determinant
is 0
,
the

matrix ( Y L) is not invertible .

-

④ deff E) = ( SHH - 1611-71=52

Since the determinant
is not 0

,
the

matrix (If Ez ) is invertible
.

-



⑤Fo
0

Since the determinant is O ,

[} IT) is not invertible .



④ Let 's expand on the 3rd row .

detCTI I'Itt
a

⇐ all 's If - of +21%1
i¥IT#i¥

= ( 1) Gill- H - (41151) - 64- 2) C-
71 - (4/131)

T2 G-21151 - ( 11131) = - 65

Since the determinant
is not zero,

the matrix is invertible .



sins hands oan.IT#iI.roFs.

detf4'
anti :L -otitti.li 't

Fit ftp.T#
= ( it [111131-61111] - O t to [6141-4141]

the determinant is
0
,
the matrix

does not have an inverse .



④ Let 's expand on stiff..in?ddnYsYwY7erosaetfIt 'II

-

-Ittakit
¥*⇒¥¥n#:

= O t s [C-3) (s )
- (711-11) to

= 5 [-15+7]=-40
Since the determinant

is not zero,

the matrix is invertible .



④ Expand on row 2 because of

the zero ,

at I fEI→
= - int's 's Itoh 's tent :#
¥*nF*÷i#

= - l . Ifs ) - fill-3D to -14 - [(311-3)-131111]

= - 66 Since he determinant is

not
tetro
,
the matri

is invertible
.

×



-







⑧' Expand on the first row because

of all the zeros .

it t¥¥¥¥
⇒ti: to Ii:#to ! : : :i¥÷÷E¥÷÷¥÷#

④ ⑦ ④ ④ ④ ④④to

④ NOTE

niiieieitoiii:iiiit¥¥÷÷÷f÷÷:- -

I:*'¥EEq¥:÷÷:÷it:& lie:& :H÷÷÷÷÷i÷.



*it. hit : : ÷÷÷
E

=4fo -13/1%{1-31} ? +3/411/7
- i. for Is ' III. it
=TiYI¥÷meL÷
Since the

determinant is zero,
the

matrix is
invertible .


